11”71 (K1 1n71)

/‘(\‘ Linearized knot diagam
1

g

Solving Sequence

7*> *»894>110—> — — —> C1,Cs,Cg,C
A knot dlagranﬂ 3 4 cr o P 2 Ca 5 o 6 o 11 —> ¢1,¢5,C8,C10

Ideals for irreducible component#ﬂ)f Xpar

I = (481u'? — 3744u™ + - .- + 245268d — 61940, —4057u'? — 5862u' + --- + 163512¢ — 19528,
— 664u'? — 49590t + - - 4 122634b + 22418, 15485u'? + 31932ut! + - - - 4 4905364 — 416896,
u® 4 2u'? + 50t 4 6u'Y + 6u” + 6u® —u” — 4ub — 1065 — 120t + 2403 — 4u® + 8)
I = (—u® + au + 2u® + d — 4u + 3, 2u*a — 4uPa — u? + 8u’a + 3u® — 6au — 6u” + 2¢ + 2a + Tu — 4
—uta+2ula—5ua+3au+ut +b—2a—u+2,
3uta — 9uta — ut + 16u’a + 3u® + 26 — 17au — 6u® + 4da + Tu — 2, u® — 3u* + 6u> — Tu® + 4u — 2)
Iy = (u* +d, —u®+c—1, 2au —u® + b+ a—u, 4u’a+a® +au — 3u® +6a —u — 5, v® +u® +2u+ 1)
Iy = <u2c—&—cu—u2—|—d—&—20—u—17 e+ —uwP+ce—1,b—u, a+u, u3—|—u2—|—2u+1>
I = +d, —v>+c—1,b—u, at+u, v’ +u®+2u+1)

I={(a,d+1,¢c—a+1,b+1, v+1)

I={(a,d c—1,b+1 v-1)

I3 ={(c,d—1,b,a—1 v—1)
I'=(a,da+c—v—1,dv—1 cvo—v?®+a—wv, b+1)

* 8 irreducible components of dim¢ = 0, with total 41 representations.
* 1 irreducible components of dim¢ = 1

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I. If =
(481u'? —3744ut ... 4+2.45 x 10°d — 6.19 X 10*, —4057u'? —5862u't + ...+

1.64x105¢—1.95x 10%, —664u!2

(i) Arc colorings

()

az =
0
a7 = u
= ()
—U
ag = u
0.0248116u2 + 0.0358506u + - - - —
ag = \ —0.00196112u2 + 0.0152649u1* + - -
—0.0315675u'2 — 0.0650961u'! + -
a1 =\ 0.00541449u'2 + 0.0404374ut + -
—0.00479679u'2 — 0.0550051u!! + - -
a0 =\ 0.0276473u'2 +0.106121u + - -
—0.0177948u2 — 0.0521797u!t + - - -
a2 = \0.00289479u'2 4 0.0135036u!! + -
—0.0261530u2 — 0.0246587ult + -
as =\ 0.0454115u2 + 0.0564362u't + -
—0.0228505u12 — 0.0511155ut + - - -
as = \ —0.00196112u'2 4+ 0.0152649u" + - - -
—0.00615449u'2 — 0.0166593u! + - - -
a1 =\ 0.0254497u'2 4+ 0.0984515u! + -
—0.00615449:12 — 0.0166593u*t + - - -
ai; = \ 0.0254497u'2 + 0.0984515u't + - -
(ii) Obstruction class = —1

3739

362610702 3

467a 11 _

iii) Cusp Shapes = —
(i), Gusp Shap 553

14825, 6 1951 .5 811U4

—4959ult 4. .. 41.23x10%b+2.24 X 104, 1.55X%
1040’2 +3.19 x 104wt 4. . . 4+4.91 X 10°a —4.17 x 10°,

uld+2ul% 4. .. —4u?+8)

1.16261u + 0.119429
+ 0.849879u + 0.252540

- —0.166977u + 0.849879
-+ 0.371969u — 0.182804

—0.979802u + 0.162744
+ 0.667074u + 0.209224

— 0.286405u + 1.04837
-+ 0.261787u — 0.0657730

-+ 0.204992u + 0.667074
—0.162744u — 0.0383743

+ 0.312727u — 0.371969
+ 0.849879u + 0.252540

— 0.562364u + 0.739289
-+ 0.788525u + 0.0840387

—0.562364u + 0.739289
—+ 0.788525u + 0.0840387

4243 10 6761 9

EETN

13626 13626 757 6813 6313 U

2 + 45?2922

6813 227



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, &4, zz u'® —2u'? + 400 — 8u® + Tu” 4 Tub — 8u® — 3ut + 9P +uP —u 1
C2,C9 u 4t 4 w1
c3, C7 w4+ 2 — 4 + 8
Cs, C11 u F2ur? o 8u 4
c10 u'® — 14u' + -+ 88u — 16




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4,Cp y13_4y12+_.__y_1
cs
C2,Cy y' 16y - — 25y — 1
3,7 Yyt +6y'2 + .+ 64y — 64
Cs5,C11 y'd —14y'? + ... + 88y — 16
c10 y? — 30y + - + 2848y — 256




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + v/=1CS)

Cusp shape

uw=0.917056 + 0.2606921
a= 0.504975 + 0.1252471
b = —0.535060 + 0.8009681
c = —0.740548 + 0.7150661

d=0.430439 + 0.2465011

—1.87851 + 3.160051

—8.32269 — 6.376221

u= 0.917056 — 0.2606921
a= 0.504975 —0.1252471
b = —0.535060 — 0.8009681
¢ = —0.740548 — 0.715066.1

—1.87851 — 3.160051

—8.32269 + 6.376221

d=0.430439 — 0.2465011
u= 0.300918 4 0.6254881
a = 1.038000 — 0.5002001
b= 0.094351 + 0.1643901 1.70980 + 0.773071 3.13297 — 1.887221

c = —0.352870 — 0.5185531
d= 0.625222 + 0.4987371

u=0.300918 — 0.6254881
1.038000 + 0.5002001
0.094351 — 0.1643901

—0.352870 + 0.5185531
0.625222 — 0.4987371

a =

b:

1.70980 — 0.773071

3.13297 4 1.887221

—0.613875
0.608171

—0.415090
1.04952

—0.373341

—1.13096

—8.32650

—1.37082 4 0.389201
0.437589 — 0.1662491
= —0.41839 — 1.512861
0.527632 + 0.7032691
d = —0.535153 + 0.3982091

c
d
U
a
b
c
d
U
a
b

Cc =

4.46546 — 5.942441

—3.19547 + 4.814101




Solutions to I}

V=1(vol + v=1C)

Cusp shape

u = —1.37082 — 0.389201
a= 0.437589 + 0.1662491
b= —0.41839 + 1.512861
c= 0.527632 — 0.7032691
d = —0.535153 — 0.3982091

4.46546 + 5.942441

—3.19547 — 4.814101

u= 0.54282 4 1.320181
a = —0.163933 + 1.3898201
b= —0.67082 — 1.538091
c= 0.748510 — 0.5131111
d = —1.92380 + 0.538001

1.53986 — 8.665551

—5.43123 + 7.164601

u= 0.54282 —1.320181
a = —0.163933 — 1.3898201
b= —0.67082 + 1.538091
c= 0.748510 + 0.5131111
d = —1.92380 — 0.538001

1.53986 + 8.665551

—5.43123 — 7.164601

u = —0.79330 4+ 1.401531
a = —0.397741 — 1.2391101
b= —0.98955 + 1.806951
= —0.773067 — 0.4434991
= 2.05217 4 0.425541

7.6949 4 13.59311

—3.46569 — 7.458201

= —0.79330 — 1.401531
= —0.397741 + 1.2391101
—0.98955 — 1.806951
—0.773067 + 0.4434991
2.05217 — 0.425541

S
[

7.6949 — 13.59311

—3.46569 + 7.458201

c
d
u = —0.28973 + 1.639881
a= 0.277026 + 0.8427141
b= 0.72701 — 1.387821

c 0.565582 — 0.4950501
d = —1.46221 + 0.210131

11.70800 + 0.17366.1

0.445368 + 1.1476301




Solutions to I} V—1(vol + +/—1CS) Cusp shape
u = —0.28973 — 1.639881

a= 0.277026 — 0.8427141
b= 0.72701 + 1.387821 11.70800 — 0.173661
c= 0.565582 + 0.4950501
d = —1.46221 — 0.210137

0.445368 — 1.1476301




IL 1Y = (—u® +2u? 4+ ---+d+3, 2uta—u*+--- + 2a — 4, —ua+ 2ua +
cvvo—2a+2,3uta—ut+---+4a -2, u —3ut + ... +4u — 2)

(i) Arc colorings
1
az = \0
a7 =
aq =

ag =

[
S

fa+iut+ o —a+2
ag =

wd —au—2u? 4+ 4u—3

—uta+uwda+ut —dvta— P +au+2u® —2a+u—1

—u4a+2u3a—4u2a+3au+u2—a—u+2)

u3a—%u4+%u3+au—u2+a—%u )

-t —autuP+u—2
uta — 2uPa + 5u?a — 3au — w2 + 3a+u—2
vla—ut+ufa+ud +Fau—ut—u+2
4
a

(
(
(
(
a = (u4a2u3a+5u2a§auu2+2a+u2)
(
(
(
(
(

uwla—ut+ - +a+1
as = \ud —au—2u®+4u—3
u4a—%u4—|—-~-—|—2a—%u
a1 = \ya — 3ula + 6ua + u® — dau — 3u® + 2a + 4u — 3
u4af%u4+~~+2af%u
a11 = \u?a — 3ula + 6ua + u® — dau — 3u? + 2a +4u — 3

(ii) Obstruction class = —1

(iii) Cusp Shapes = 2u? — 6u? + 12u — 12



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, C4, G u'® —u® —u® 4 3u” — 20° +ut + 40 — 30 —du 44
Cs
10 9

Ca, Cg u - +3u” 4 -+ 40u + 16

cs3, Cr (u® — 3u* + 6u® — Tu? + 4u — 2)?

Cs,C11 (u® + ut = 3u® — 2u® + 2u — 1)?

10 (u® — Tut + 170 — 14u? — 1)?




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4,Ce y1°—3y9+---—40y+16
Cs
10 9

C2,Cy Yy 45y + - — 32y + 256

¢, ¢r (y° + 3yt + 2% — 13y — 12y — 4)2

5, C11 (y° — Ty* +17y% — 14y% — 1)?

c10 (v° — 15y* 4+ 93y° — 210y* — 28y — 1)?

10



(vi) Complex Volumes and Cusp Shapes

Solutions to I3 VvV—1(vol + /—1CS) Cusp shape

0.225231 + 0.7029141

0.456786 + 0.0206821
—1.393800 + 0.2343851 | —2.91669 — 1.138827 | —7.28192 + 6.054501

0.723513 — 0.9821421
—1.62313 + 1.612321

SO ST
([

0.225231 + 0.7029141
1.40917 + 2.760671
—0.645580 — 0.4904171 | —2.91669 — 1.13882] | —7.28192 + 6.054501

—0.36215 + 1.569411
0.088345 + 0.3257401

0.225231 — 0.7029141

0.456786 — 0.0206821
—1.393800 — 0.2343851 | —2.91669 4 1.13882] | —7.28192 — 6.054501

0.723513 + 0.9821421
—1.62313 — 1.612321

0.225231 — 0.7029141
1.40917 — 2.760671
—0.645580 +- 0.490417I | —2.91669 + 1.138821 | —7.28192 — 6.054501

—0.36215 — 1.569411
0.088345 — 0.3257401

> Q Bl 0 o g0 o9 gl o
[ | I

1.36478
= 0.467454 + 0.2208351
= 0.121768 + 1.2375601 5.22495 —1.71420

= 0.637971 — 0.3013911

= 1.36478

= 0.467454 — 0.2208351

= 0.121768 — 1.2375601 5.22495 —1.71420
¢ = —0.548749 + 0.6053931
d= 10.637971 + 0.3013911

c
d
U
a
b
¢ = —0.548749 — 0.6053931
d
U
a
b
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

0.59238 + 1.529331
0.362296 — 0.7209651
1.02960 + 0.982301
0.719342 — 0.4647051
—1.92040 + 0.399651

QL o o= & &

10.17380 — 6.997191

—0.86096 + 3.546831

0.59238 + 1.529331
—0.195707 4 1.1799101
—0.61199 — 1.875361
= —0.531954 — 0.4960571
1.317210 + 0.1269881

,Q
-~
I

o e
Il

10.17380 — 6.997191

—0.86096 + 3.546831

0.59238 — 1.529331
0.362296 + 0.7209651
1.02960 — 0.982301
0.719342 + 0.4647051
—1.92040 — 0.399651

10.17380 + 6.997191

—0.86096 — 3.546831

0.59238 — 1.529331
= —0.195707 — 1.1799101
= —0.61199 + 1.875361
¢ = —0.531954 + 0.4960571
d= 1.317210 — 0.1269881

> Q@ 2l o0 o9 gl o
Il

10.17380 + 6.997191

—0.86096 — 3.546831

12



IIL I =
(u?+d, —u?+c—1, 2au—u?+b+a—u, 4u?a—3u?+---+6a—>5, ud+u?+2u+1)

(i) Arc colorings
1
az = \0
a7 =
as =
ag =

ag =

w?a+ 2au —u? +2a —u
—2u2a — bau + 3u? — 2a + 2u

—2au~+u?+u
2u?a + 6au — 3u? + 3a — 2u

—2u?a — bau + 3u® — 2a + 2u

u?a+ 2au —u? +2a —u
a1 = \ —2u2a — 5au + 3u® — 2a + 2u

(
(
(
(
o= (oo i)
(
(
(
(
(

wla + 2au —u? +2a — u )

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u? — 4u — 10

13



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, C4, G ub +u® — 2ut + 2u® — 2u —1
C11
C2 u® + 5u® + 8u* + 6u® + 8u? + 8u+1
c3,C7,Cy (u® 4+ u® + 2u + 1)?
ce, C8 (u® —u? +1)?
C10 u® — 5’ + 8ut — 6ud +8u? —8u+1

14



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4,Cs y6—5y5+8y4—6y3+8y2—8y+1
C11
¢2,¢10 y® — 9y° + 20y* + 1493 — 16y% — 48y + 1
C3,C7,C9 (y3+3y2+2y— 1)2
Co, Cs (v’ —y* +2y—1)°

15



(vi) Complex Volumes and Cusp Shapes

Solutions to I§ VvV—1(vol + /—1CS) Cusp shape

u = —0.215080 + 1.3071401
a= 0.460426 + 0.9587731
b= 0.366694 — 1.0051701 3.02413 4 2.828121 | —2.49024 — 2.979451
c = —0.662359 — 0.5622801
d= 1.66236 + 0.562281

u = —0.215080 + 1.3071401
a= 0.404090 — 0.0167961
b= —-2.15161 — 0.301971 3.02413 4 2.828121 | —2.49024 — 2.979451
¢ = —0.662359 — 0.5622801
d= 1.66236 + 0.562281

u = —0.215080 — 1.3071401
a= 0.460426 — 0.9587731
b= 0.366694 + 1.0051701 3.02413 — 2.828121 | —2.49024 + 2.979451
c = —0.662359 + 0.5622801
d= 1.66236 — 0.562281

u = —0.215080 — 1.3071401

a = 0.404090 + 0.0167961

b= —2.15161 + 0.301971 3.02413 — 2.828121 | —2.49024 4 2.979451
= —0.662359 + 0.5622807
= 1.66236 — 0.562281

= —0.569840
= 0.725017

= 1.32472
= —0.324718

= —0.569840
= —7.45405
= —1.28631 —1.11345 —9.01950
c= 132472
d = —0.324718

c
d
U
a
b= —0.143852 —1.11345 —9.01950
c
d
U
a
b

16



IV.
I} = (u?c—u?+---4+2c¢—1, uv?c+c?—u?+c—1, b—u, atu, u®+u?+2u+1)

(i) Arc colorings
1
asz = O
a7 =
aq =
ag =
ag =

c
—u2c—cu+u2—2c+u+1>

—uwlc—cu+ul+c+u
—2c+1

wietcu—wi+e—u—1
—wlc—cu+u?—2c+u+1

c
—u2c—cu+u2—2c+u—|—1>

c
an = (u200u+u2 2c+u+1>
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u? — 4u — 10

17



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,¢4 (u® —u? +1)?
€2, C3, C7 (u® 4+ u? + 2u + 1)?
€5, C6, C8 ub +u® = 2ut 4+ 2u% — 2u —1
C11
o ub 4 5u® + 8u* + 6u® + 8u? 4+ 8u + 1
C10 u® — 5’ + 8ut — 6ud +8u? —8u+1

18



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1, (v’ —y* +2y—1)°
C2,C3,C7 (y3—|—3y2+2y— 1)2
Cs, Ce, C8 y675y5+8y476y3+8y2—8y+1
C11
C, C10 Y% — 9y + 20y + 149° — 162 — 48y + 1

19



(vi) Complex Volumes and Cusp Shapes

Solutions to I VvV—1(vol + /—1CS) Cusp shape

u = —0.215080 + 1.3071401
a = 0.215080 — 1.3071401
b = —0.215080 + 1.3071401 3.02413 4 2.828121 | —2.49024 — 2.979451
c= 0.103733 + 1.1078501
d = —0.064957 + 0.5318151

u = —0.215080 + 1.3071401
a= 0.215080 — 1.3071401
b= —0.215080 + 1.3071401 3.02413 4 2.828121 | —2.49024 — 2.979451
c= 0.558626 — 0.5455711
d = —1.352280 + 0.3956291

u = —0.215080 — 1.3071401
a= 0.215080 + 1.3071401
b= —0.215080 — 1.3071401 3.02413 — 2.828121 | —2.49024 + 2.979451
c= 0.103733 — 1.1078501
d = —0.064957 — 0.5318151

u = —0.215080 — 1.3071401
a= 0.215080 + 1.3071401
b= —0.215080 — 1.3071401 3.02413 — 2.828121 | —2.49024 4 2.979451

0.558626 + 0.5455711
—1.352280 — 0.3956291

—0.569840
0.569840
—0.569840 —1.11345 —9.01950
0.665586
—0.413144

—0.569840

0.569840
= —0.569840 —1.11345 —9.01950
¢ = —1.99030
d= 4.24762

c
d
U
a
b
c
d
]
a
b

20



V. I =(w?+d, —u*+c—1,b—u, at+u, u +u?>+2u+1)

(i) Arc colorings
1
az = 0
a7 =
a4 =
ag =

ag =

ag —
u? 41
ain =\ —q2
u? +1
a1l = —U2
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u? — 4u — 10

21



(iv) u-Polynomials at the component

u-Polynomials at each crossing

Crossings
C1,C4,Cs wW—u? 41
C6,C8,C11
€2, €3, C7 uw? +u® +2u+1
Cy
C10 w—u+2u—1

22



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4,Cs y3_y2+2y_1
C6,C8,C11
Co,C3,C7 y3+3y2+2y_1
Cy, C10

23



(vi) Complex Volumes and Cusp Shapes

Solutions to I VvV—1(vol + /—1CS) Cusp shape

u = —0.215080 + 1.3071401
a = 0.215080 — 1.3071401
b = —0.215080 + 1.3071401 3.02413 4 2.828121 | —2.49024 — 2.979451
c = —0.662359 — 0.5622801

d= 1.66236 + 0.562281
u = —0.215080 — 1.3071401

a= 0.215080 + 1.3071401
b= —0.215080 — 1.3071401 3.02413 — 2.828121 | —2.49024 4 2.979451
¢ = —0.662359 + 0.5622801
d= 1.66236 — 0.562281

u = —0.569840

a= 10.569840

b= —0.569840 —1.11345 —9.01950
c= 1.32472

d=—0.324718

24



VLI =(a,d+1,c—a+1,b+1, v+1)

(i) Arc colorings

w= (o)

o ()
o= (o)
w-(3)
w- (1)
e ()
e ()
e (1)
w= (1)
= (1)
ai=(5)

(ii) Obstruction class =1

(iii) Cusp Shapes = —12

25



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Cq u—1
C2,C4,Cg u—+ 1
C9
C3,Cs5,C7 U
€10, C11

26



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C4 y— 1
Ce, C8, Co
C3,Cs5,C7 y
€10, C11

27



(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/=1CS) Cusp shape
v = —1.00000
a= 0
b = —1.00000 —3.28987 —12.0000
¢ = —1.00000
d = —1.00000

28



VII. Iy ={a, d, c—1, b+1, v—-1)

(i) Arc colorings

w= (o)

()
)
o ()
e ()
e (%)
e )
o (1)
)
o= (o)
=)
=)

(ii) Obstruction class =1

(iii) Cusp Shapes =0

29



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C11 u—1
C2,C4,C5 u—+ 1
€10
C3,Cp,C7 U
s, C9
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossin
y y
C1,C2,C4 y—1
C5,C10, C11
C3,Cq, C7 y
Cg,Cy
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(vi) Complex Volumes and Cusp Shapes

Solutions to 1Y v/—1(vol ++1/—1CS8) | Cusp shape
v = 1.00000
a= 0
b = —1.00000 0 0
c= 1.00000
d= 0
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(i) Arc colorings

w= (o)

()
)
o )
= (1)
o= (o)
=)
o (

- (

- (

-

VIIL. I = (¢, d—1, b, a—1, v—1)

(ii) Obstruction class =1

(iii) Cusp Shapes =0
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C3 "
C4,C7
Cs, Cg u—1
€8, €9, C10 u+1
C11
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3 Yy
C4,C7
C5,Ce, C8 y—1
€9, €10, C11
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ v/—1(vol ++1/—1CS8) | Cusp shape
v = 1.00000
a = 1.00000
b= 0 0 0
c= 0
d = 1.00000
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IX. I =(a,da+c—v—1,dv—1, co—vi+a—v, b+ 1)

(i) Arc colorings

e ()

o= )
=)
o= o)
w-("1)
a- (%)
o=
= (1)
a1
= ()
mn=a")

m=a")

(ii) Obstruction class = —1
(iii) Cusp Shapes = d? +v% — 8

(iv) u-Polynomials at the component : It cannot be defined for a positive
dimension component.

(v) Riley Polynomials at the component : It cannot be defined for a positive
dimension component.
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(iv) Complex Volumes and Cusp Shapes

Solution to I} | v/—1(vol ++/—1CS) Cusp shape
v = e e .
a = e ..
b= —1.64493 —7.39277 — 0.542141

C =
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X. u-Polynomials

Crossings u-Polynomials at each crossing
u(u —1)2(u® —u® + 1)3 (w8 + u® — 2u? + 2u* — 2u — 1)
1, ¢
b St = —u® +3u” - 2u® +ut 4 — 3u? — du - 4)
(' =20t 4 4u® — 8u® + T 4 TuS — 8u — 3ut + 9ud Fu? —u 1)
Ca, Co u(u+ 1) (u® +u? + 2u + 1)3(u® + 5u® 4 8u* 4 6u® + 8u? + 8u + 1)
(430 -+ 40w+ 16) (ul F4ut 4 —u 1)
cs, ud(u® +u? + 2u + 1)5(u® — 3u* + 6u® — Tu® 4 4u — 2)?
(B 2ut? 4 — 4?4 8)
u(u+1)3(u® —u? +1)3 (b + u® — 20 + 2u® — 2u — 1)
C4,C8
(! —u® —u® 30T — 20° 4 ut 4 4ud — 3u® — du+ 4)
(' = 2ut? 4 4u® — 8u® + T 4 Tub — 8u® — 3ut + 9uP +u —u 1)
es, €11 u(u — 1) (w4 1)(u® —u® +1)(u® + u* — 3u® — 2u® + 2u — 1)?
((u® +u® = 2ut + 2% = 2u — 1)) (u'? + 20t -+ 8u+4)
¢10 u(u+1)*(u® —u? +2u — 1)(v® — Tu* + 17u® — 14u® — 1)?
((u® —5ud 4 - = 8u+1)%)(u'® — 14u'? 4 - - - + 88u — 16)
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XI. Riley Polynomials

Crossings Riley Polynomials at each crossing
€15 €4, Co y(y —1*(y° —y* +2y = 1)°(y° — 5y° + 8y* — 6y° + 8y* — 8y + 1)
¢ |0 =3y e — A0y + 16) (" —ay 2 — gy — 1)

y(y — 1)2(y* + 3y* + 2y — 1)

ca,C
o ’ <y6 - 9y5 + 20]/4 + 14y3 — 16y2 — 48y + 1)
. (ylo +5y9 4+ =32y + 256)(y13 + 16y12 b 25y — 1)
c3, 7 PP+ 3y% + 2y — P4 + 3y* + 2° — 13y% — 12y — 4)2
(Y + 6y + -+ 64y — 64)
¢s:cn1 y(y =D~y + 2y = Dy = Tyt +17y° — 1y — 1)
(W =5y 4 — 8y + 1))y — 14y™ + - 4 88y — 16)
yly — 1)2(y° + 3y + 2y — 1)(y° — 15yt + - — 28y — 1)
C10

(8 = 9y° + 20y" + 14y° — 16y% — 48y + 1)?
(Y™ = 30y + - - - 4 2848y — 256)
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